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K 4 Ffr B 90m 70m 50m 30m HBm  tyb 10m X
1-C RCM #K HMB& FE= 239 290 289 319 1137 143 21 9
3-C RCM XH =¥ FMIuLE 241 285 286 323 1135 144 23 1
1-B RCM FHER #X FFlus 253 273 271 308 1105 144 20 5
4-B RCM = & #Flz 251 271 274 305 1101 143 18 3
3-A RCM )il E 7JLO 238 271 268 321 1098 143 15 6
1-D RCM EH FRA #Flus 203 276 274 327 1080 142 23 10
1-A RCM BA [E FES 214 254 270 308 1046 142 17 6
2-A RCM #h)Il %6 =ES 210 237 260 309 1016 140 9 2
2-C RCM #FO % <FES 204 242 239 309 994 14 15 3
4-A RCM #T B <FES 165 225 274 316 980 136 14 4
3-B ROM R & <FES 119 218 291 317 945 132 19 3
2-B RCM #0O BAFE FMIuLs 119 250 251 321 941 132 15 3
4-C RCM ithHEH {#2 7JL2 156 217 263 304 940 135 13 3
2-D RCM BH F= MILUE 124 196 145 253 118 125 1 3

aAVIND U RBF
K 4 fr & 90m  70m  50m  30m (3= tyb  10g X

7-A CPM fRik #h= KBk 319 328 345 349 1341 144 69 217
6-A CPM LA BARE KRBfrt 330 327 329 347 1333 144 62 17
7-C CPM =5 Hah X% 306 337 317 349 1308 144 55 21
6-C CPM Zith IERF K& 282 322 322 345 1271 144 49 21
6-D CPM H._L iftml =+ 287 321 320 337 1265 143 50 15
5-A CPM #AAK piEh EEE 298 308 302 326 1234 144 30 11
5-D CPM FE/R & FE 251 293 295 321 1160 144 19 12
5-B CPM HHF EH# SR 257 283 292 325 1157 141 20 7
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K % fr @ 7TOm 60m 50m 30m /R  Eyb 10m X
8-B RCW wmifL BAEZ#FuLE 313 294 317 333 1257 144 33 14
9-B RCW HH %1k FF=m 285 295 286 326 1192 144 29 9
9-A RCOW %=H w"IxXi<FES 274 287 285 318 1164 144 18 4
8-D RCW sRfE £ F¥ulLE 265 285 281 324 1155 144 23 1
8-A RCW & #6F =FES 271 288 265 323 1147 142 26 5
8-C RCW X& & FES 256 236 281 315 1088 144 20 6
9-D ROW & BE FES 193 209 207 281 890 137 5 1

AN REF
K 4 fr & Om 60m 50m  30m = tyhb 108 X

10-A CPW dei 24 KBrvi 315 321 317 336 1288 143 44 11



